WELLAND GOULDSMITH SCHOOL
CLASS - 2 ARITHMETIC ANSWER KEY (CHAPTER 2)
TOPIC : ADDITION

1. Add the following numbers :
6+2=8

7+0=17

5+5=10

12+4=16
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2. Find the sum (without carrying) :

a. T O b. T O c. T O d T O
1 4 3 4 6 O 2 3
5 3 2 2 3 3 1 4
+2 1 +1 3 +2 4 +6 2
8 8 6 9 11 7 9 9
3. Add the following (with carrying) :
a. T O b. T O c. T O d T O
1 1 1 1
2 4 3 6 4 7 9 0
+1 9 +7 6 3 6 8 8
4 3 11 2 +2 4 +2 5
10 7 20 3
TEXTBOOK EXERCISES :
e Exercise 2.1
A.Find the sum :
51 12 23 76
7 20 14 10
+ 20 +16 +11 +11
738 438 438 97



e Exercise 2.2
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C. Find the sum :
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e Exercise 2.3

A. Find the sum:
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B.Add :
1 1 1
63 42 6 4 8
+2 4 +39 +16 +8 7
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e Exercise 2.4

A.Add :
2 1 1
20 65 17 31
14 18 13 32
+32 +_ 7 +26 +2.8
66 90 56 91




